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ex_1

write a function that, given a number n,

the function prints the n-th Fibonacci Number
F(n) = F(n-1) + f(n-2)

o of

oP

1 function fib = fib 7(n)
if n <= 2
fib = 1;
return
end
fib = fib_7(n-1) + fib_7(n-2);
- end




% calculate
% mxn recursively, n > 0

function m_times_n

nult_7(m, n)

if n ==
m_times_n = 0;
return
end
m_times n = m + nult_7(m, n-1);

end



% write a function that receives two numbers a,b. and calculate a”b

~I function answer = power_7(num, pow)
% stop condition!

if pow ==
answer = 1;
return

end

% recursive call
answer = num * power_7(num, pow - 1);
- end




GCD

o? o°

oP

r+ qgb =
gcd(b, r)

o o° o°

o?°

gcd_val
return
end
gcd_val
- end

goal: finding gcd of two numbers a,b

= gcd(b, a)

gcd(b, mod(a,b)) = gcd(a,b)
gcd(a,0)=0
the recursive call will stop when r ==

~I function gcd_val = gcd_7(small, big)
% stop condition!
if small ==

big;

gcd_7(mod(big, small), small)



function found = binary_search_7(vec, num)
found=0;

% stop condition!

if length(vec)>=1

% recursive step

% search in only one side of the vec
middle = ceil(length(vec) / 2);

% search left side

if num == vec(middle)
found = 1;
return

% search left side
elseif num < vec(middle)
found = binary_search_7(vec(1l:middle), num);
% search right side
else
found = binary_search_7(vec(middle + 1:end), num);

end
end

end
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function fib = fub_better(num)

n=zeros(1,num)

n(l) = 1;
n(2) = 1;
k=3;

while k <= num

n(k) = n(k=-1)+n(k=2);
k=k+1;

fib=n

end
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function sortedArray = quickSort(array)

end

if numel(array) <= 1 8%If the array has 1 element then it can't be sorted
sortedArray = array;
return

end

pivot = array(end);
array(end) = [];

8Create two new arrays which contain the elements that are less than or
g2equal to the pivot called "less" and greater than the pivot called

% "greater”

less = array( array <= pivot );

greater = array( array > pivot );

8The sorted array is the concatenation of the sorted "less" array, the
gpivot and the sorted '"greater" array in that order
sortedArray = [quickSort(less) pivot quickSort(greater)];
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function [ ] = permutations( v,tail )

tprint all permutations of v fellowed by tail
%t example: permutations(1:5,[]);

n=length(v);
if n==
disp([v tail]);
else
for i=1l:n
tadd v (i) to the beginning of tail
permutations([v(l:i-1) wv(i+l:n)], [v(1i) taill):;
end
end

end



